DO NOW

The graph represents the number of books
read by Claire and Terry over a 4 week
period. Who reads faster, and by how
much?
a. Claire reads 8 more books per
week than Terry.
b. Claire reads 2 more books per
week than Terry.
c¢. Claire reads 1 more book per
week than Terry.
@Claire reads twice as many books 2 3 4
per week as Terry. Week
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1. Both Janine and Fran used exercise equipment at their gym.
Fran walked on a treadmill and Janine rode a stationary bike.
Their times and calories burned are shown in the graph below.

In calories burned per hour, how much faster was Janine than
Fran?

Janine 150
200 calovies per howr § 125
Fran Suih
>[50 calories per hour ;2 = B
5 S
200-150= 50 3 2%
Z
Janine burned 50 more 6 & 1015 20 2 %

Colaries per hour than Fran-
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Get Fit Now

. Get Fit Now, Witness Fitness, and Beech 200
Tree Gym all have a constant monthly rate 1
after the initial fee. The cost for each = %
fitness center is found at right as eithera ™
graph, table or equation.

a. Which of the three fitness centers has
the lowest monthly rate? * SLOPE
b. Which fitness center would cost the
least for 6 months of use? 2
@. Get Fit Now
20 0 i 4 6 8 10
m=5 = 20 ‘Time (months)

. NV
V\J Iness Fifness m= \1(_};__’)2‘7 Witness Fitness
m=272 m= 21819 Time

-3 (months) Cost ()
Beech Tree Gym =2 . =

m=22.9
Qet Fif Nowhas The Towest mornHy rade ; 32
. Fri Now—='160 ness Fitness costs
b %Qﬁh(gs Friness =92 \Nljhf\is\easp-? r ° 2 218
Beech Tree Gym-> A

Cost ($)

. |Beech Tree Gym: C =22.5m + 30
(o wonthS. {Beech Tree Gym szz.s(}gﬁo
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3.8 Modeline with Li Functi

X- X-axis is +he independent variable (horizontal)
L what you know first = INPUT
y- y-axis is +he dependent variaple Cvertical)

s changes depending on Z-yalue

Tips for Reading Graphs:
1. Don't rush +he reading. SLOW DOWN
and pay attention 4o details.
2. Questions about rate of Chmmge
Ly %% SLOPE
- Questions abowt startin nd tHong or
beg’mv\'\ng values— wik% Y-INTERCEPRT
- Questions asking When the values are
the Same — s%% INTERSECTION
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2. Two different health clubs have the following rates. Sheila's Spa charges a

flat fee of $350 a year for the use of the club, machines, the pool and the
classes. Gina's Gym charges $150 a year for the use of the club, machines,
and pool, plus $20 per exercise class.

a. Write an equation to represent each health club's yearly fees.

b. Graph each equation with appropriate labels for the axes.

c. Under what circumstances is it more economical to join Gina's Gym?

Let C=cost peryear Nearly Gost
N =4 of exercise classes Z’gg
14 550
Sheila's Spa. 20 ek
c = 350 450 | (9'\(\0‘6
horizantal 4_205‘; Sheila's Spo.
- 7 '
Ginas Gym S
C=150+20n 2
g > P
R ol for
TF 1S more econamical Tor
C A Tran 10 classes. RO % Nober of Classed
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HOMEWORK

Worksheet - HW 3.8 Linear Modeling
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